B
(50}

(e \&
B \g‘@“‘w

eyt

(=)
H=1.40 Y
=2}, 00 B ¢
"R omE@ —

|

2)

DP1. 40m
0/ DP1. 20 (fR)
1. 10 (B

- Tt

o R

R
(=)

100 _DPO. 47

JKEDCIP

0 DP=2. 50 (s

90
2. 60

00 ¢}

LI =

EGES 225

i

SAFEE $=1:500

IRIGHTRY A

-
=
=
D = e o
— ey s
—5\__
i ———
——
_____ 3 T
T S =iy
1.00 = ==
9.60 x 1=23.50
20m~ g =B
e
T
[ 2INE =D

w5,

o

o208 oy
Br S A

(BER)

NTT 65588 P19y

FEARRERER

H1.00
[EPRIESY
~1. dan

-

#No. 25MHB
BEREE T K,
(FH) Ledd.

\
\
2@

3438 DP=1.13m

= |o  NIT 6%5Ek 0P1L20m
— __NIT 8%

oPNo. 19-3-9)

— MNoi038

= =1

pon ®200VU
T8 s 5205 "0%o
=1./3.50

£

AKAMAETKEISZHNE
%3 mmws | 1/8
B iR 2
TEEFR | RENER LN
HES | 24rER | R| BEF
a3 =2 &
Agzx| XK AR W & W




1/500

Y L] .
F mE B #R 1:50
£ ¥ B
I3 8 @ \//
5 E = 2 \/ —
N ARSI T N _
i —— R
: — . = = =
p v = =
f @20 | @ N 54 Pi = S
Sy "’1? 5. 0%o & ] W - P y
L . 48.00 S | Z . =]
No IBZI 2
-- — T S RN ——— s o —
B ﬂ e g/m*‘ o ToT J;@__ﬁ"_ o - —38-00— - — e — =
c%— ) = = = = ==t ==t — =1 ~
50" i | | |[ Ao b1, 200~ 1bion I 7 \msang ?2()0‘}23/”
\ VL ; (.
- owg) Y A S~ ©200 ‘ ' ‘
=R ® = 1es) gsg%
\ = / —
\ S éi/\ Ll
72 \ \.\. 0
\ \ \ 2 \ B (X — Y,
¢ [¢ 1)
#E 1:100
X oW E R %R 10
& PN S
2L . N o 5
Y % W % e o 3
< 7
)0 RS
A\§%5<1 A\§2441 /
s 3
/‘\%&’ q}&’)
Nf)’ﬁ\ «63’}\/
A\ O
* *
lo.50] 2+ [ X
320. 00| ﬁ@;ﬁ%
O T —
I —
20d!
17-9 4 ool 0200
h'b 5 ‘l:i!> 5. 0%o
; Y 319. 277
318.162
315. 00| 8
l2.
##HEh
€ 310.00| EiAsHE (Ei)
EiAf 512 H=3.00m
EEIREL VB (W) mER
DL=307. 00
16.00 | 32.00 38.00 | 60. 00
200 200
@ 5. 0% @ 5. 0%
48.00 250. 35

=

(m)
321.63

(m)

’ Y H AR

EES
(m)

(m)

‘ Fah(r:nﬁ)ﬁﬁ’é‘ ’ REIF

B =

321.52
321.21
320.98
320.73

2.39

2.36
2.38
2.23
2.25
2.21
2.29
2.34 Y

318.953
318.933
318.773
318.753
318.563
318.482

2.71 (7 319.033

8
2.70
2.55
2.57
2.53
2.61
2.66 - 318.182 -

No. 19-1-1  349.70 f

No. 19-1-2H 365.70 H
No. 19-3-1H 397.70 H

No. 19-3-2H 435.70 H
No. 19-3-3- 495.70 “

T

#ER 1:100

1-1
10190
9190 1000
5900 3290
470 1810 910 2710 1850 1440
o
|
B -
@ 8
JKEVP ¢ 20 t J
DP=T. 20m
FEREPE ¢ 100 950 NTT6Z5EE
DP=T. 20m DP=1.37~1.3m
4R U7° (VU 6250 353ER ®
DP=1. 1am K VUE 6200

DP=2.38~2.23m

= it

RKET AT KEIERHH
IEES |E§%| 2/8
B85 4
TEER | RETR LA
HEA | «4TER | R| BHF
A = &
gex| XK A W & A




1/500

#ER 1:500

e
453E% DP=1. 18m
i

#ME B m X

#E 1:100

320. 00|

$50) DP=1. 20m

1. 20m

a
5
3
B

X8 il

318. 182
4204
315. 00| @ 4.0 I
Jis[16B| | | e
Bl = =
4. 85/ §:4‘
©1800
| i) ) 2. 6%o
g€ 310,00 EsAs S (E38) hoghsz () 909310 A ()
AL H3. 00m 0m HEARS H=2. 50m
| BEIECE DV () [RhER g BEEILL Va0 B
DL=307. 00 -
75.00 | 1000 | 1000 | 2100 | 25.00 h. 50
0200 0200 0200
@ 5. 0% @ 5. 0% . @ 5. 0%
250. 35 3.50 4.50
| R g g 5 8 1 |l |2l 8 =
¥El g g g g g g 2l 5 5
27 S & & S S S| || S 8
J— [ T T T T T ]
= |8 52 33 83 53 SiEaag | B B X R
%g o~ SN SN e e NS [ 3| 9 93 - =
.H
J— [ T T T T T ]
el Z s 58 BF| 8B E8 & 8§
E| < ~r= ~r ~r ~r ~o | okpl| g © s o
i & 1Y) I Ho Ho Sl | ol | 2 » >
[ T T T T T ]
& |8 =8 %83 83 85 8| S| BEH g 3
T el SN SN e S\ ~Njes | o3| | B3 9 SN
ﬁv
J— [ T T T T T ]
' e 2 2 2 2 21 9|8l g8 8
R o o o o s | 42| S
25 3 g g g 5 B hed| |28
| [ T T T T T ]
R il 7 g T ¥ 3 1 Ky T o
| 2 T T T 2 e 7 IKT T
= 2 2 2 2 2 2 2 KKy 2 2
Bl g S S S S S s oo s o
= = = = = = = = = = =

¥ m X %R 1:100

2780

1270 , 840

1370 , 1410

E=EPE ¢ 100
DP=1. 20m

1E3R:Y7 VU 6 250 3536
DP=1.13m

R6-K-2-T

| U

| B
QM NTT645E%

DP=1.44~1.20m

5K VUE ¢ 200

DP=2.36~2. 47m

£

XA

MAXTFTKEISE

Bt

IEHES

HEES

| 3/8

BRR 4B

TEEmR

RENMBR LA

X @& &

SHTER | #

R

B B

&

AEE

X A W

N
1<

2




AL

@PF;,‘;% 250)

BEz%No. 1A FLi#naF il X

R 1:50

2l
B
No. 20-1-1
153 vik—)L
@ 200VU Z
O
—— — —

N RETEUE

EHIE
1150
¢ 200

woo ¥

O — 5
= g
P \
/
g -
27 38 -
o —
BEE&No. 1
$45 K7L 6 2000
bs( 2000 bsi
2500
il
A-ABTE X
BEE%No. 1
47 AFL 6 2000
0 ¢ 600 B0 ¢ 900
V320. Vv320.22
N Y30 gé
i ../ A
== —1
7 ! L
L é |
= |
— T
@PE100 —
@(gﬁg:mm) —
i
© 200U
—_ 5. 0%
316,603
i
=
6900
134150
[ERIAVAN
SR ZAPA JL—rI FEE
#150 L=6.937n
— &F?S&gnﬁa—
EE/ i E $900 ¢
— 7A2) ©1800
— J \@, 2. 6%
— e — — = —3
) AV — Ll ( b
H— 4+ ==\ gls
EE/ Sy K \\ o
w300 610 !
PP e v309.310 |
g
P P\ -
AxnimbaydV=t/ b 62000 5
2500

B-BHfT EI X

1170

1010

S =
— =~ ©
@) 5]
— i I -
R BK| Bk =
s = -
= b L= = ]
9 v317.337 — i
—_ \ ©200VU
— = 5. 0%
1 V316. 640
- ©200VU E—
E 5. 0%o
@ V316,620
v316. 603
8| | J—
3
= = =
900 T
| _‘ #1176 150
g H
- | j
NI T et 90" EE
g
<y
I I FS “ -
YiA—tkavyy— VP ¢ 1504221
Azn=bazou=t/ by hom e g
2500

= It

KATMAETKEISZSRHE
IEES |@@§%| 4/8
BAR B
TIEER RIBETE LN
ME4 | #48 W R| EE
a3 =2 &
g2 X A W % Bt




600

75

Y UR—LEER

1857 vikR—)L (#EX) BER s=1:z30 INIT UR— LB EFS=1 : 30

Ll

T om| A— AME
ERUZHR ERU® 820
10 600 110|
BEER BESA
N T
mEY LY mEy Y
eIy
nEInyy
-
|a S —— > s Al , % ; ¥ S
T t% %& I BRZR22 1 75 L. 15 + Jrab)sh 30
f 5 Bz 5 7 #hi7° T i 200
5= )
5 L " = (=1200 Yrbs° 30 ;
BTy BTy —_— %g L ME
5 = NRUGC-30 (B)-400
5 = )
AesuE | | ey g . 5
by 30
B [ 1 ‘& [CE22e0)
= e — RIC30(C) -370
7 < /tr:\zcmrfrzu)»; n__— E _J (150, 200747
S 8| E NRIC30 (P) 70 B NRIC30 (P) 70
= Aii—kavyy—+ 7 |
g (18-6-4088) 8 £33 % P
RC—40 jﬂ_J
1100 1100
E &
B o -t - Ao -k
uE 2w | [n b = ~ & CTORBAE (0
& 150] G0 &) 326015075325 300 [RIC30(©) 370 (150190270 WRIG30 (0)-3710%0) 072707 @ s
6200 | NRWG30427-570 (200 47> | 325[ 300 INRNG30(6) 370 (150 105/ 2551 INRNC30 (©) 370 (20009, 5/262 5+
©-370 150120 2401 NRIC30 (0370 200) 103G5
1 ( 325 1.5 VRIC30 ©) 370 z00) 1207240
= - J— bvAw N-—3 g - [WRUG30 ©)-370 (150)150/210F__ | 3253 1.5 [NRNG30 (€370 (200) 135/2251
0FTUk—IL (#HII) *ﬁl&@ S=1:30 bevica0 (@) -s70(150165/195_| 3253 )15 370(200) 15072101
[WC30 ©) 570 (150) 1801 325)345[300]180" =7.5° 30(0)-370(200)_165/1951"
RIC30 © 370 Z00)_T80F
T & A—AFEE B — BEEE
820 ERUBH ERUE® 820
> g 4 N = .
110 600 110) iﬁtié/J\DT%? J"k_}l/*ﬁlalz‘ $=1:30
nEeR ﬂ T
| 2 2
mEy Y
BRIy
#EIOyYy ¢ 540
o Ritat
B £ =
; 420 | REHE
| 5 ; #® (2] JRERIRE
AT = A aways 3 ‘ 1 - w i
[ ‘ 7 (% £ — .:}: £ 3] AR
B . 4 L4 o EE
BEIa Y EHEIOYY . _| uﬂlk{ 2 %(ER(SEE%)I
75 710 5 = i ~ o) . g Eas
qesuE ‘ = B o318 S g [\s TEEE 300295 (15 - 395 - 55 - 895)
=7 o n
H L SH sy
bt S R4S 300 426 (626 - 625)
K : x .
= BRSSP T of - > ETETTYSreS
2 t=2en (1:2) S <~ <
= 3| ~
= Av—FavHsy—F = T
g (18-6-4088) — o
NABR UR—ILA V= 9200 B & e
&
950 950 -
B EHEIE R s=1:30
= & = N B A6 EEIEERET 5.
A< R—IL (i) s=1:30 #
(a_T
T EE A— ABE B BHEN T ¥ ﬁ%w
0 . A _
820 ERURR ERUBR 20 (—_ A Je—
[110 600 110| BERN XE
mEeR \f S — X ‘
i | A EEEEnI— EbiEs I FehinEs
P s S T - FL—vIVFEE
ey Y wEy >y i S—zorEE
wMEIOyYy ) o0 s [ —— *Ai
#RInyy AL R B -
Eiien 5
e A i’I -
% % [0.6~1.0n[1.0~1.5n
| B L
L e R e N : rr] w |
i ] £ . £
I 7 3 — 3
v v
BHhIOyYH BHIO Y 100,
B ;e SHE
T — KAHAHTKEISERE
335 = AR RELIN
75 900 75 5 gl t=20m (1:2) 3 IEES HEES 5/8
= Avri—tavsy—t t
g (18-8-4088) B’ e a2
RC-40 IHEmR IRIBRTRY L3R
1100 80

% | wi-EER | R

i B &
X AR W & Fr
R6-K=2-T

Jeln

#

E
ft




BT EMERE

NHEFEKBERAE

AR

R 1:20

¥ B K

wrom (D

K i n B

500

228y FE 200

Wt TLBBOAZEE S0
- JLBZORZEE ¢150
J — TR E T
INOEA B
#1200 x 150 x 100 345 [
R 200 100x 100 3A4M
Brm X (2

>
o

it

500

Bt T-2, T-8

JLGHZO0BEME (FRIEEZOE)
150 6 (0, 15, 30, 45, 60, 75)
$100x 6 (0, 15, 30, 45, 60, 75)

JL@BZOFREE 100
JLBROHREE ¢150

\ W EZXE

N (4200 x 150)
(6150 x 100)

EKEE $200 (¢150)

VG. L

FOxvyT

=
|

N\ALLYE VU200

IEYE VU200

) = 5— dL®mZOBEME 100 i = S
TG0 2 ANEDAGHESI By Ei -
(¢ 100/3) (6=0, 15, 30, 45, 60, 75)

AFERH

(MRIAMZO TS )

& H100x 6
BHE ¢ 150% 0
(6=30, 45, 60, 75)

BIKAE $200 (¢150)

AR E X

R 1:10

R A (T-2)

I8y FE 200

R (T-8)

150

250

¢ 236
- 218
e |
WE 200
=

A
=1

£y

AATAXTRKEISEHRHK
IEES |EE§% 6/8
B8 A
THER | RAARL N
@ alaheslal®e R| m=
B = &
WEE Xx B W &

R6-K-2-T




fH X 5 H K % R=1:40 T I RERUVYE HE /B ER=1:40

EAsEHEE . X I K
— EEAsSHE
(EE)
—fEmhEE
(XREV U200)
£ 8 18 _mE
{R1EIH H
T . _EHIT | BET
# Al 18 % ;W .
o ! LT.;
- 2 7 H#
gl | b o &
7 8 v 4 s — b
N = ) BETHEA (D) =5 X | IS0 2SR RE W 7E il #iE Hl 18
BEEMEA () thon B AL VU150 | VU$200
X B I BEZBHEA0I) BE®E  RC-40 t=20cm H
LEBBT  (M-40) - E o *iEY H=1.5 800 850
TREESET  (RC-40) o = . RG-40 ® oy
O . 5 BH 0.20m¢ | H<3.0 950 950
i} ] E b
, 1AE BH 0.35m* | H=3.5 1,050 1,050
@ BH 0.35m° | H=4.0 1,150 1,150
. 8 «
- - N # i BH 0.60m’ | H<6.0 | 1,400 1,400
AR -
RN
BRESSE WEITRA g
{ \ £ 8 i
% %:jj X1 HEHOBRS - BRMIIBREFRELT LT B,

T B

BATHEAs (13)  t=5cm
BAERRIEAs 20) t=bcm
e

FOBERE  M-40 t=350m
EARE _RC40  t=35cm

O
L HRHIE J

EEREERX

BEIELEZILE
(¢p200)

@ e

S— X T4 # T okSE T H A
S g ISES |@@§%| 7/8
N Q . ©
.W%ﬁb . y = %@
ﬁ' PR THEH EABETR L
g _ T - _
e HEE| gapm | R B
R &
MEEHE X B W &

R6-K-2-T




274 FL=)L

BAE S T B ITIEER

RAIE

dE

REVEL

3000

AR 5. OmpLF

274 FL=b

A 3%

REVEL

1Rl

#E R 1:20
T m|E X
dl S
| |
Ak d [
JE JE
W m X

274 FL=)L

Y]

REVEIL

{RAIZ 6.0npL T

AY %

el

KATMAATKEIEHRIR

|HE§%| 8/8

I%ES

B8 2

THERH BABATRE L
BEsgenrt®e R| ®=
A 2 B
MEE K A W & A

R6-K-2-T




